2004全国重点中学临考仿真试卷

英  语(第一模拟)

班级            姓名           得分
	题号          一              二           三          四          总分

	分数


第Ⅰ卷 (三部分共115分)

	得分
	


第一部分：听力(共两节，满分30分)

做题时，先将答案划在试卷上。录音内容结束后，你将有两分钟的时间将试卷上的答案转涂到答题卡上。

第一节(共5小题；每小题1.5分，满分7.5分)
	得分
	



听下面5段对话。每段对话后有一个小题，从题中所给的A、B、C三个选项中选出最佳选项并标在试卷的相应位置。听完每段对话后，你都有10秒钟的时间来回答有关选题和阅读下一小题。每段对话仅读一遍。

例：How much is the shirt?

A.￡19.15.                B.￡9.15.                 C.￡9.18.

答案是B。

1What does each ticket cost?

ATen yuan.        BTwo yuan.         CFive yuan.

2What time is it now?

A7∶10.           B7∶30.           C7∶50.

3Where is the man's brother living now?

AIn his hometown.      BIn New York.      CIn Boston. 

4What has the man just got?

AA new shirt.          BA pair of new shoes.          CA new coat.

5What is the woman going to do?

APass the Customs.          BLeave the port.           CGo shopping.
	得分
	


第二节(共15小题；每小题1.5分，满分22.5分)

听下面5段对话或独白。每段对话或独白后有几个小题，从题中所给的A、B、C三个选项中选出最佳选项，并标在试卷的相应位置。听每段对话或独白前，你将有时间阅读各个小题，每小题5秒钟；听完后，各小题将给出5秒钟的作答时间。每段对话或独白读两遍。

听第6段材料，回答第6，7题。

6How many cities has the man lived in?

A4.                     B3.                       C2.

7What is the most important thing by which the man thinks San Francisco the best place?

AGood weather all the year round.          BMany kinds of fresh fruit.

CFamily members and friends there.

听第7段材料，回答第8，9题。

8How long is the dinner time at the restaurant?

AFive hours.             BSix hours.              CSeven hours.

9What can we infer from this conversation?

AMr Bryant is a boss of a company.       BMr Stone will treat his friends.

CThey will be having a meeting at dinner time.

听第8段材料，回答第10至12题。

10 What do you think the man is?Why?

A.A policeman,because he works hard.    B.A postman,because he often works late.

C.A taxi driver,because he often works through the evening rush hours.

11When were they having this dialogue?

AAfter the man finished his work.              BAfter they got up.

CBefore they went out shopping.

12How is the weather in New York compared with the weather in Florida?
AColder.            BWarmer.             CRains more.

听第9段材料，回答第13至16题。

13What are they mainly talking about?

AHolidays spent with their friends.         BSummer holiday plan.

CTravel experiences.

14Where did the woman go last years?

AEdinburgh.         BParis.              CScotland.

15What does the woman prefer to do holidays?

AStay in a friend's cottage in the country.

BVisit theatres and cinemas.

CEnjoy marvelous scenery and fresh air.

16What is the woman's decision?

ATo go with the man.                    BTo stay at home.

CTo visit her friends in Paris.

听第10段材料，回答第17至20题。

17Why did the soldier keep silent at first?

AHe was afraid of the officer.        BHe wouldn't tell the officer his name.

CBecause his name was Stone Breaker.

18Who was Stone?

AAn old soldier.             BAn officer whose work was to train soldiers.

CA man who looks after a kind of hard stone.

19What does“I'm even harder than stone”mean?

AHis body was harder than stone.  BHe would punish the soldiers very often.

CHe was very strict with the soldiers.

20Which of the following statements is true?

A.Not all the soldiers told their names.     B.At last,the soldier told Stonehis name. C.The soldier refused to tell Stone his name.

第二部分：英语知识运用(共两节，满分45分) 

	得分
	


第一节：单项填空(共15小题；每小题1分，满分15分)
从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并在答题卡上将该项涂黑。例：It is generally considered unwise to give a child[CD#3]he or she wants.

A.however         B.whatever         C.whichever          D.whenever

答案是B。

21If you fail,don't be discouraged;try it         time.

Athe second           Ba second          Ctwo]           Dmore

22—How will the boss pay us?

—So far as I know,we're paid         

Aby hour         Bby the hour         Cby an hour        Dby hours 

23.They continued handing out the food to the natives until there was      left.

Anothing         Bnone          Cno one           Dno any 

24 It is cheaper to buy old furniture than to have new          made.

Aone          Bones             Cfurniture            Dthat 

25—I was so sure that our experiment was going to succeed,but something went wrong at the last moment.

—                ,but don't give it up.

AYou don't mean that                   BFind out the reason

CNever mind                            DI'm sorry to hear that

26Try to do what you think is right and worth,            others do it.

Aeven though        Bhowever         Cwhatever          Donce  

27I know Mr Brown,we           to each other at an international conference.

A.were introduced   B.have been introduced   C.are introduced   D.had introduced

28Jim has no idea where he lost his watch,        it's         that he will get it back.

A.and;unlikely       B.but;impossible       C.and;possible       D.but;probably 

29No one            this building without the permission of the police.
Ais leaving      Bis to leave      Chas left      Dwill be leaving 

30We offer the best          in London;only four pounds a meal with coffee.

Aprice              Bworth               Ccost               Dvalue 

31In my opinion,Jackson is not much of a basketball player,but when it        to table tennis,he is among the best in the country.

Agoes              Brefers               Ccomes               Dgets

32You can hardly imagine the difficulty the woman had           her children.

Abrought up     Bto bring up     Cbringing up     Dto have brought up

33            you make so much noise?

—Sorry.I'll take care not to.

ACan       BMay        CWill         DMust 

34All the top leaders discussed the plan that they would like to see       the next year.

Aput into practice                        Bputting into practice 

Cto put into practice                     Dbe put into practice 

35—And besides,these colors are more            you.

—Do you really think so?I'll take it,then.

	得分
	


Abelonging to        Bbecoming to        Creferring to         Dused to 第二节：完形填空(共20小题；每小题15分，满分30分)

阅读下面短文，掌握其大意，然后从36～55各题所给的四个选项(A、B、C和D)中，选出最佳选项，并在答题卡上将该项涂黑。

At dusk,when walking across the Central Street in Harbin and stepping into Pisa Restaurant,we watched a  36  lady coming towards us.She greeted us in  37  with a bit foreign accent.“Hello!  38   to Pisa Restaurant.”That is Rena,a Russian,
and   39   works as a waitress in Harbin. 
Since China  40  the opendoor policy years ago there has been more and more frontier(边界)  41  between China and Russia along the area.  Once when Rena and her fellow townsman  were traveling in Harbin, she  42  that Pisa Restaurant intended to hire a Russian girl as a  43  .Rena immediately applied for the job.On  44  of the fact that she not only could speak English but was  45  with restaurant service as well,Rena was hired,with a  46  of 350 yuan per month.

Rena is very hard  working and all the customers prefer to be 47 by her due to her cordial smile as 48 as her nice voice with Russian flavour.  Many people have been  49  to Pisa Restaurant by  Rena and wanted to  50  photos with her.Rena always tries her best to  51  them.Therefore business is really brisk(兴隆的)in Pisa Restaurant.  

When we  52  Rena how she arranged her free time .   She told  us that on her day  53  she usually went shopping or went to parks with  her Russian friends who were also  54  in China.Taking photos and shopping are their  55  hobbies.

36  AChinese        BRussian        CJapanese        DGerman 

37  ARussian        BEnglish        CChinese         DJapanese 

38  AGo             BGet            CPlay            DWelcome 

39  Anow            Bbefore         Cever since      Dturn 

40  Acarried on     Badmitted       Cadopted         Dreceived 

41  Ainformation    Bcommunication  Cconnection      Dfriendship

42  Aguessed        Bsupposed       Clearnt          Dthought 

43  Awaitress       Bwaiter         Ccook            Dservant 

44  Aresults        Bamount         Creasons         Daccount 

45  Afamiliar       Bstrange        Csimilar         Dsatisfied 

46  Amoney          Bwage           Coutcome         Dsalary 

47  Atreated        Bwaited         Cserved          Daccepted 

48  Agood           Bwell           Cnice            Dsweet 

49  Aattracted      Binvited        Ctaken           Dbrought 

50  Amake           Bget            Ctake            Dhave 

51  Aamuse          Bsatisfy        Cjoke            Dcheat 

52  Atold           Bknew           Cwondered        Dasked 

53  Aout            Boff            Caway            Dfree 

54  Aemployed       Binvented       Casked           Dattracted 

55  Aworse          Bgood           Cbad             Dfavourite 

	得分
	


第三部分：阅读理解(共20小题；每小题2分，满分40分) 

阅读下列短文，从每题所给的四个选项(A、B、C和D)中，选出最佳选项，并在答题卡上将该项涂黑。

A 

China hopes S. Korea staying stable 

China hopes the political situation in the Republic of Korea remains stable, said Foreign Ministry spokesman Liu Jianchao in Beijing on Friday. 

The South Korean National Assembly stripped(剥夺) President Roh Moohyun of power on Friday by passing the first ever impeachment(弹劾、指责) bill against a president. 

In response to a related question, Liu said this is an internal matter for the ROK. Amid(在……之中) loud shouting by opposition and heavy clashes(冲突) between lawmakers, National Assembly Speaker Park Kwanyong announced the result at around 03:00 GMT. 

He said 195 lawmakers of the total 271member parliament attended the ballot(投票), 193 voted for, while the other two voted against. Opposition parties take majority numbers in parliament.

According to rules, the bill was affirmed when two thirds of the 271 lawmakers voted for it.
With the passage of the bill, Roh has been suspended(停止) as the head of state, supreme commander of the army,president of cabinet meetings and coordinator of state affairs.

However, Roh will be allowed to reside in the presidential residence under the protection of the presidential secret service until the Constitutional Court issues a final ruling.

56  We may infer from the passage that              .

A. the political situation in the Republic of Korea is unstable recently

B. there is a friendly relationship between China and S.Korea

C. Liu Jianchao has just visited S.Korea

D. both A and B

57  The president of S. Korea was impeached because               .

A. he failed in the election

B. more the two thirds of the lawmakers voted against him 

C. he lost the power 

D. the passage does not mention it 

58  According to the passage which of the following statements is right?

A. No president of S.Korea has been impeached before.

B. Most of the lawmakers is against Roh.

C. The National Assembly will issue the final ruling later.

D. Both A and B.

                          B

Let's face it—English is a crazy language.There is no egg in eggplant(茄子)norham in hamburger;neither apple nor pine in pineapple.English muffins(松饼)weren't invented in England or French fries in France.Sweetmeats are candies while sweetbreads,which aren't sweet,are meat.

We take English for granted.But if we explore its paradox(似是而非的说法),we find that quicksand(流沙)can work slowly,boxing rings are square and guinea pig is neither from Guinea nor is a pig.

If teachers taught,why didn't preachers praught?If a vegetarian eats vegetables,what does a humanitarian eat?

How can a slim chance and a fat chance be the same,while a wise man and a wise guy are opposites?How can overlook and oversee be opposites,while quite a lot and quite a few are alike?How can a person be“pretty ugly”?

You have to marvel at the unique lunacy(荒谬)of a language in which your house can burn up as it burns down,in which you fill in a form by filling it out and in which an alarm clock goes off by going on.Why is a “crazy man”an insult(侮辱),while to insert a comma and say“crazy,man”is a compliment(as when clapping for a Jazz performance).
English was invented by people,not computers,and it reflects the creativity of the human race(which,of course,isn't a race at all).That is why,when the stars are out,they are visible,but when the lights are out,they are invisible.And why,when I wind up my watch,I start it,but when I wind up this essay,I end it.
59. Which of the following statements about the English language is not true according to the passage?
A. It is a crazy language.      

B. It reflects the creativity of the human race.

C. It was invented by the British people.        

D. It can be quite irregular. 
60. Which of the following pairs contains expressions that are opposite in meaning?

A. “A fat chance”and“a slim chance”. 

B. “To fill in a form”and“to fill out a form”.

C. “Crazy man”and“crazy,man”.
D. “Quite a lot”and“quite a few”.

61. According to the passage,which of the following statements is true?
A. A wise man is similar in meaning to a wise guy.

B. “An alarm clock goes on”and“an alarm clock goes off ”are opposite.

C. Boxing rings are square rather than round.

D. Sweetmeats are sweet meat while sweetbreads are not sweet at all. 

62. We can learn that the author of this passage              .

A. is interested in the structure of the English language

B. takes the paradoxes in English for granted and never pays any attention to them

C. does not know what a humanitarian eats

D. wonders why overlook and oversee do not mean the same

C 

In the Caucasus(高加索)region of the Soviet Union,nearly 50 out of every 100000 people live to celebrate their 100th birthday,and many don't stop at 100!By comparison,in American only 3 people out of 10000 reach 100.But these Soviet old people aren't alone.The Pakistani Hunzas,who live in the Himalaya Mountains and the Uilcabambans of the Andes Mountains in Ecuador,seem to share the secret of long life,too.These peoples remain healthy in body and spirit despite the passage of time.While many elder persons in industrial societies become weak and ill in their 60s and 70s,some Georgians,aged 110 to 140,work in the fields beside their gre at greatgrand children.Even the idea of aging is foreign to them,when asked,“at what age does youth end?”most of these old people had no answer.Several replied,“well,perhaps at 80”,the very youngest estimate was age 60.
What accounts for this ability to survive to such old age,and to survive so well? First of all,hard physical work is a way of life for all these long lived people. They begin their long days of physical labor as children and never seem to stop.

All these people get healthful rewards from the environment in which they work.They all come from mountains regions.This reducedoxygen environment makes the heart and blood vessel system stronger.

Another factor that may contribute to the good health of these people is their isolation.To a great extent,they are separated from the pressures and worries of industrial society.Inherited factors also play some role.

63. Why does the writer mention some longlived people in the first paragraph?

A. To surprise his readers.

B. To introduce the subject of the article.

C. To tell you the difference between people in the Soviet Union and America.

D. To tell you why Americans don't live as long as other people.

64. How many factors that contribute to long life of the people are mentioned in the article?

A. One.              B. Two.           C. Three.             D. Four. 

65. Whom does the underlined word“they”refer to in Paragraph 2?

A. Old people in the Soviet Union.                   BThe Pakistani Hunzas. 

C. All of the longlived people.                   DSome Georgians.

66. From the writer's viewpoint,industrial society                .

A. is highly developed and beneficial to people 

B. is a great advance in human history

C. is full of pressures and therefore bad for people's health

D. should be replaced by isolated environment because it is bad for people's health

67. Which of the following is true according to the article?

A. It is beneficial for people to be isolated.

B. People should learn to relax themselves from high pressures of life in industrial society.
C. The more hard physical work you do,the more healthy you will be.

D. The more remote areas you live in,the more healthy you will be.

D 

Part of David's heart muscle grew thick and  stiff ,keeping the flow of blood.The disease David had lived with for 17 years was slowly keeping his heart from beating.
The night Flora bent forward in front of her computer,everybody else was asleep.For the price,or keeping her husband alive?To do that,she needed to search for the information:a place and someone to fix David's damaged heart.And she needed to be lucky.
Finally,she found what she needed on a magazine's web site.When David came into the study early the following morning,she said,“I've found it.”and handed him the papers.
David wondered if there was any other way.Then he thought about his wife and kids.He stared at the papers.Only he could make the choice:Should he have the same surgery(外科手术)that had killed his father,or the one that no one works?This experimental treatment might be his best hope.
The operation theatre was kept freezing cold.David wasn't frightened,just nervous.
He felt a burning pain,like a burning knife cutting through his heart...
On the EKG screen,the tiny valley in the middle of each peak(高峰)—showing a sign of David's disease—smoothed out.For the first time in years,he had a normal arterial(动脉)pressure.
“That's the most unus ual thing,”said Flora,excited by the results.
Three days later,David and Flora drove home after the fight from Houston.Their kids ran out to meet them.

68. Decide which is closest in meaning to the underlined word“stiff ”(Line 1)in the text.
A. unable to bend                           B. dry,loose and smaller 

C. not easy to turn or move                  D. less straight as well as narrow 

69. And she needed to be lucky.What did this sentence suggest? 

A. God would bring luck to her.             

B. Good luck was sure to reach her. 

C. She needed to try hard to be lucky.      

D. There was a chance that her efforts would end in failure.

70. From the text,we learn that Houston was probably the name of               .

A. the operation room              B. the most unusual surgery

C. a city where the hospital lay   D. the head doctor in charge of the operation 

71. From the text,we can tell that                .

A. the Davids got along well with each other

B. David accepted Flora's advice without any hesitation

C. David's father died from a sudden attack of heart trouble
D. David became a normal person soon after the medical operation

E 

There are three kinds of goals:shortterm,mediumrange and longterm goals.Shortterm goals are those that usually deal with current activities,which we can apply on a daily basis.Such goals can be achieved in a week or less,or two weeks,or possibly months.It should be remembered that just as a building is no stronger than its foundation,our longterm goals cannot amount to very much without the achievement of solid shortterm.Upon completing our shortterm goals,we should  date the occasion and then add new shortterm goals that will build on those that have been completed.
The intermediate goals build on the foundation of the shortterm goals.They might deal with just one term of school or the entire school year,or they could even extend for several years.Any time you move a step at a time,you should never allow yourself to become discouraged or overwhelmed.As you complete each step,you will enforce the belief in your ability to grow and succeed.And as your list of completion dates grow,your motivation and desire will increase.
Longterm goals may be related to our dreams of the future.They might cover five years or more.Life is not a static thing.We should never allow a longterm goal to limit us or our course of action.

72. Longterm goals mean a lot            .

A. if we complete our short term goals

B. if we cannot reach solid shortterm goals

C. if we write down the dates
D. if we put forward some plans

73. New short term goals are built upon               .

A. two years                            B. longterm goals
C. current activities                   D. the goals that have been completed 

74. When we complete each step of our goal,                 .     

A. we will win final success                   

B. we are overwhelmed 

C. we should build up confidence of success        

D.  D. we have strong desire for setting new goals

75. Once our goals are drawn up,                 .

A. we should stick to them until we complete them

B. we may change our goals as we have new ideas and opportunities

C. we'd better wait for the exciting news of success
D. we have made great decisions
第Ⅱ卷  (共35分)
第四部分：写作(共两节，满分35分)

	得分
	


第一节  短文改错  (共10小题；每小题1分，满分10分)         

此题要求改正所给短文的错误。对标有题号的每一行作出判断：如无错误，在该行右边横线上画一个勾(√)；如有错误(每行只有一个错误)，则按下列情况改正：

此行多一个词：把多余的词用斜线(＼)划掉，在该行右边横线上写出该词，并也用斜线划掉。

此行缺一个词：在缺词处加一个漏字符号(∧)，在该行右边横线上写出该加的词。

此行错一个词：在错的词下划一横线，在该行右边横线上写出改正后的词。

注意：原行没有错的不要改。

Yesterday we went to plant trees on the hill near to       76.            

 our school.  The boys were made dig pits(坑).The              77.            

girls were told to plant the young trees into the pits.        78.              
All of us worked very hardly.  Soon we were all wet            79.              
with sweat.After the young trees planted,  we                  80.          

began to water it.The water was at the foot of                 81.            

the hill.  But we stood in line to pass pails(桶)              82.            

of water from one to other up to the hill.                     83.            

We did not finish water the trees until it                     84.            

	得分
	


was dark.Though we were tired,we feel very happy.              85.            
第二节：书面表达(满分25分)
根据下面所给的信息，写一篇120字左右的短文。

假如你是王平，你的网友(efriend)，美国纽约的Brian，想了解你所在城市的情况。请你用邮件回答他：

城市名称：New City；

所在地点：中国西部；

情况介绍：新建城市，道路宽敞，高楼成群，遍地花草，绿树成阴，环境优美；公共设施(facilities)先进，人民生活便利，目前还在发展。

